
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/dds-237-7-5hp-1ph-drum-assembly-7
7/4/25

DDS-237 7.5HP 1PH Gearbox
Assembly

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/dds-237-7-5hp-1ph-drum-assembly-7


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/dds-237-7-5hp-1ph-drum-assembly-7
7/4/25

Description

Index
Number Part Number Description Size Qty

1 DDS225-401A Gearbox Body  1

2 TS-0720071 Lock Washer 1/4 4

3 TS-0207071 Socket Head Cap Screw 1/4-20 x 1-1/4 4

4 DDS225-404 Drain Plug  1

5 BB-626VV Ball Bearing  2

6 DDS225-406 Gear 66T 1

7 DDS225-407 Key 4 x 4 x 8 1

8 DDS225-408 Pinion  1

9 BB-6000VV Ball Bearing 6000VV 1

10 DDS225-410 C-Ring  1

11 DDS225-411 Gear 70T 1

12 DDS225-412 Gear 57T 1

13 DDS225-413 Shaft  1

14 BB-6002VV Ball Bearing 6002VV 2

15 DDS225-415 Key 5 x 5 x 20 1

16 DDS225-416 Shaft  1

17 DDS225-417 Cover  1

18 TS-1503041 Socket Head Cap Screw M6 x 16 8

19 DDS225-419 Key 5 x 5 x 30 1

20 DDS225-420 Collar  1

21 DDS225-421 Oil Plug  1

22 DDS225-422 Handle  1

23 BB-6006VV Ball Bearing  1

27 DDS225-427 Block  1

29 DDS225-429A Gear Assembly (s/n 0509DDS225726 and higher) 64T / 77T 1

30 DDS225-430 Key 6 x 6 x 50 1

31 DDS225-431 Cable (for 1/4HP, 1Ph, 230V )  1

 DDS237-431 Cable (for 1/4HP, 3Ph, 230/460V)  1

32 DDS225-432A Motor 1/4HP, 1Ph, 230V 1

 DDS225-432MF Motor Fan  1

 DDS225-432MFC Motor Fan Cover  1

 DDS225-432RC Running Capacitor 10μF, 350VAC 1

 DDS225-432JB Junction Box  1

https://jpw-catalog-qa-b2c-2.corevist.cloud/dds-237-7-5hp-1ph-drum-assembly-7


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/dds-237-7-5hp-1ph-drum-assembly-7
7/4/25

 DDS225-432JBC Junction Box Cover  1

32 DDS237-432 Motor 1/4HP, 3Ph, 230/460V 1  

 DDS225-432MF Motor Fan  1

 DDS225-432MFC Motor Fan Cover  1

 DDS225-432JB Junction Box  1

 DDS225-432JBC Junction Box Cover  1

33 DDS225-433 Gasket  2

34 DDS225-434 Steel Ball  1

35 DDS225-435 Spring  1

36 TS-1523011 Socket Set Screw M6 x 6 1

37 DDS225-384 Strain Relief  1

38 DDS225-438 Oil Seal  1

39 DDS225-439 Gasket  1

40 DDS225-440 Oil Seal  1

Additional Information

Stock Number 1791320-8

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/dds-237-7-5hp-1ph-drum-assembly-7

